
Lineárne rovnice – Štafeta – Karty s úlohami a výsledkami pre učiteľa 

A1: x + 4 = 3 [-1] B1: x - 4 = 3 [7] C1: x + 4 = 5 [1] 

A2: 2x - � = 3 [1] B2: 3x - � = -1 [2] C2: 2x + � = 5 [2] 

A3: � + 3x = x - 5 [-3] B3: � - 2x = x + 8 [-2] C3: � + 3x = x -4 [-3] 

A4: � + x = 3x + 1 [-2] B4: � + x = 6 + 5x [-2] C4: � - 5x = 5 – x [-2] 

A5: � + 3x = �∙x + 3 [1] B5: � - x = �∙x + 1 [3] C5: � + 2x = 2 +  �∙x [1] 

A6: � - 3x = 3 -  �∙x [-1] B6: � - 2x = 2 -  �∙x [-1] C6: � - 2x = 2 -  �∙x [-1] 

A7: 2∙� - �∙x = 2x [-2] B7: �∙4 + �∙x = -3x [2] C7: 4∙� - �∙x = 2x [-4] 

A8: 2 ∙ (� - x) = -10 [3] B8: 3 ∙ (3x - �) = 3x [1] C8: 4 ∙ (2x + �) = -8x [1] 

A9:  (5x - �) ∙ 2 = 4x [1] B9: (� + x) ∙ 2 = 3x [2] C9: (2x - �) ∙ 2 = 3x [2] 

A10: � - (2x + 1) = 2 [-1] B10: � - (x - 3) = 7 [-2] C10: � - (2x + 3) = 3 [-2] 

 


